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#HE fu xi (review)

AnatEli  There

WinasEll  Where?

{REIM4E X ? Where are you going?
{REIFR4E X . You are going over there.



Fl(dao)...... a place E(qu),
25 di dian (places)

2R kg 24 fre

Xué xiao chao shi yl yuan



4+ EE zud shén me (to do what?)

1. REBHAREE?

KAER
2. {RERETAILHEE ?
AR

3. {REBHRMHE"?
HEER
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ARz B 2 AR ?E F?

ni ddio na NI qu
Where are you going?

s
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wo dao xué xiao qu
I'm gomg to school.
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ni dao xué xiao qu zud shén me
Why are you going to school?

I RABILPIRLESBRLPI X -

w0 dao xué xiao qu xué zhdong wén
I am going to school to study Chinese.
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PR3 AR AR E S ?
ni daio na i qu
Where are you going?

D HrbE —T—J S

wo yé dao xué xiao qu
I am also going to school.

%
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ni dao xué xiao qu zud shén me
Why are you going to school?
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wo dao xué xiao qu jido zhong wén
I am going to school to teach Chinese.
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quiz

https://docs.google.com/forms/d/e/1FAIpQLSdUOjkb6Ck3xBXnx8r O5Nfg3BP9dPp3An
EW9i69R0Q80-sjLO/viewform?usp=sf link



https://docs.google.com/forms/d/e/1FAIpQLSdUOjkb6Ck3xBXnx8r_O5Nfg3BP9dPp3AnEW9i69RQ8o-sjLQ/viewform?usp=sf_link
https://docs.google.com/forms/d/e/1FAIpQLSdUOjkb6Ck3xBXnx8r_O5Nfg3BP9dPp3AnEW9i69RQ8o-sjLQ/viewform?usp=sf_link
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